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Do not open this booklet until asked to do so...

RATIONALIST TALENT SEARCH EXAM 2018

STD:Ill &:3T Roll No.

Date of Examination : 11 February 2018, Sunday
gdigneffardt g=A / Guidelines for the Candidate

1. T Yftaehdict Te U9 SO AT et Fase Wt e s,
Please make sure that all questions are printed properly in Question booklet or
not.

2. U AT & TRE SHATERTE ek UTHieh! (He oAl W hisd ST,

Check to make sure that you have received the appropriate answer sheet of your name and roll
number.

3. ufken g& guangdi fageneatn wrrean dyut el WEht wvarEdt 30 fafRe iften as qvam
RER

You will get additional 30 minutes to check and make sure about the information about
yourself on the Answer Sheet before the start of the exam.

4. HE IIGRETRALE TRUT 100 T ST Tedkeh TYHTS! 2 T[0T 3Tz
This question booklet contains 100 questions each question carries 2 marks.

5. ©d U9 AUl STavaeh 3TE. YeheAl ScIagge! MaTeedl TN $Haeare! Sehi T[0T Tl het
HTUTR AT,
All questions are compulsory. There is no negative marking.

6. SIUCHATY SHIH! TR [HeaTeaTH W T Tl

Check to make sure that you have received the appropriate test booklet for your standard.
7. UATAMEA heles Uehdl Seck siek 3T, SIeR SccliETd! Uehel
There is only one correct answer. Choose onIy one option for an answer.

8. IcalTal U WIUATHTS! Sheles hiest / fHest T SieTa-<r anawrEt.
To mark your choice of answers by darkening the circles in the Answer Sheet, use a Blue/Black
Ball, Pen only.

Eg.

Q. x : - Fill in the blanks.

My father went.........cccorvecrrceneennes To buy some milk.

a) there b) their c) They're d) here

As the correct answer is option a) you must darken the circle corresponding To option a) in the Answer

Sheet as follows.
CORRECT METHOD WRONG METHOD

| @OOO®| [x @GO @]
9. UM HUCHTER gl ScUTIohT THASTERIEhS UXd STl

Return the Answer Sheet to the invigilator at the end of the exam.

10. STTUET URET ShHTh TITYREThar GEaT ToTeTal a Het TYgieeht URET ShicTaeiFaR e diad
11

Write your Roll No. on the Question Paper too and take it home for future reference.

Visit www.rtsexam.com for answer key after 8 days




§ Ik + 2 Pk + 3 Teheh

A) 2R B) g3 C) 2% D) £33
1 Hundred + 2 Tens + 3 Ones

A) 122 B) 123 C) 124 D) 133
e

& R

] 3

A)3 B) ¢ )R D) o
Simplify :

6 2

9 3

A)3 B) 1 C)2 D)0
4.4 0 U TEuTs fehelt T0 2

A) k40 B) 4o C) uRo D) u&o
How many paise are there in Rs.5.50 ?

A) 550 B) 570 C) 590 D) 560
WeicTieh! ShiuTedt SATehdrel olie fAfgea o ?

A) <« > B)

Q) > D) licT<h! @

Which one of the following figures has a fixed length?

A) < > B)

Q) > D) All of these

e¥ I + 3TTA I =7

A) %% S B) 3¢ & C) 3% 3= D) R% 3
14 eggs + 2 dozen eggs is equal to
A) 44 eggs B) 38 eggs C) 36 eggs D) 24 eggs

TS 33 HITREEHA S, TR credl Td HieRETIsheTedl TTehiel UshUT T&a fohedl ?

A) &% B) ’R C) 33 D) ¢¢
Sanay has 33 motorcycles. How many wheels are there in all?

A) 66 B) 99 C)33 D) 88
WA AT fohelt hIA ST ?

A)¥ B) 3 )« D) &

——
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| —



10.

11.

How many angles are there in the figure below?

A) 4 B)3 )5 D)6
WA TSt TeRUT Tohelt HehiuT S1Ted ?
A) & B) o C) ¥ D) &

How many triangles are there in the figure below?

A) 6 B) 7 C) 4 D)5
WelicTieh! Tdid WSt I EEIT HIUT 2
Which of the given Roman numeral given below has the greatest value?
A)L B) X Qv D)C
WTeAet STYUTTShTS SISt .
AR
3 3

9 5 R
A~ B) ~ C)3 D)~

3 3 3
Add the fractions:
3 3
A ! B > C)3 D

) 3 ) 3 ) )

&% + A = ¢, M =TRdi?

A) ¢ B) % C) D) &%
64 + A =8, then A = How much?
A) 8 B)9 C)7 D) 64




12.

13.

14.

15.

16.

17.

WU ShIVTSRIUTET G SThHeTel HRT THH STUTTehT TEeer S8 ?

% @ a4
R 3

¥

2

A) § 3TfuT ¥, R iUt 3 B) § IfuT 2, 3 AfUT ¥
C) R effor ¥, ¢ oot 3 D) ATdeht AATEY

Which of two figures have an equivalent shaded fraction?

/é\ @ Q;ﬁ
ljl ‘\\ I’J
2 3

4

1

A)land4,2and3 B)land2,3and 4
C)2and4,1and3 D) None of these

Ueht Uit fohtid 3'0 % 3112 ; ) 19T < Uren fehwra femelt 2

A)334 % B)333% C)34o0% D)330%
A pen costs Rs.37, Find the cost of 9 such pens.

A) Rs.335 B) Rs.333 C) Rs.350 D) Rs.330
§000 IA 3 fohel WA FUTR .

A) §oo feret B) §o ferent C) §ooo ferett D) & feremt
Convert 6000 g to Kg.

A) 600 Kg B) 60 Kg C) 6000 Kg D) 6 Kg
g i TS TEEATAT e, TR A TeRot fohelt feawr wrgefiar e ?

A) 2% feam B) *¢ feaw C) R0 eaw D) *% f=m
Rohan went 3 weeks for his picnic, how many days did he go for picnic in all?
A) 14 days B) 21 days C) 20 days D) 22 days
ferama varta et e

Find the odd one out?

b5 & 0O A

T TS U & T ¢4 AL, 20 T TAT Q0 AT & 00 & TN Y4 el 3. T feiearehs vegput fohelt wut
A ?
A) %4 T B) k¥4 % C) 344 T D) C¥4 %

Kaveri has 15 notes of Rs.5, 17 notes of Rs.10 and 5 notes of Rs.100. What is the total amount with
her.
A) Rs.745 B) Rs.545 C) Rs.345 D) Rs.845

( 2 )
L 3 J



WA TeTeit 0T e et

3, Ufyem, g

A) B B) 39T c) gfero D) AT
Identify the word belonging to the given group.

North, West, East
A) South West B) North East C) South D) North West

Wil TEATATAT TR ST ST ST ShivT ?
R4, Qok, L4, &k, ¥4, ?
A) R4 B) ¥& C) 3% D) 34

Find the missing number in the given number series.
125, 105, 85, 65, 45, ?
A) 25 B) 46 C) 36 D) 35

WA T3 ATHAT SR AT HIBET.
Select the correct mirror image of the given question figure.
a9 311?&1/ Question Figure:

|AER
JRIA  H3IV _A3IA ,AEA

TP TSI ATUATAE ST 9t fG8et o S SHTShea e e
Find the correct alternative showing the water reflection of the question figure.

g W/ Question Figure:

m; B) ; Q) D)

CAN : % OA :: NAC:

A) 0% A B) Ave [ c) A D) W A
WeAled Uehl 12T 7 SHUTRT Ui ST,

A) femmem B) M C) FTAgET D) HeaTgt
Find the odd man out.

A) Himalaya B) Ganga C) Satpuda D) Sahyadri




24, T AT TR TR FUATHIS! GaTaTdicl ard et (et

Select a figure from the options, which fits exactly into given question figure to make a complete
square.

g 3Mhal/ Question Figure:

&
2l B B BN

25. WOl SThdiaTa TeAIIvgTeat S 20T AT ShIUT ?

Which figure will replace the question mark in the given figure pattern?

HeN -
A). B)’ C)‘ D).

g i -

WAt TETd Tigedl SATehden ga=at HAThAIvH Sl Hael 3Ty STTdl qura vay foa=an stegpdien <iean
T TegTedn SRT AU SAIHATIN 312, § T8TTd s Scadidl Udid Hael.
Instructions:-

There is a certain relation between the pair of figures on the either sides of :: Identify the relation
between the pair and find the missing figure at question figure.

1 R
26. —
A) ‘ B) | C) D)
OO0.[]. O .,
7. OO OO0
A) A B) /—— Q) D)
28. et A SHUIR UE 5@,
A) STl B) HeRT C) aretdt D)@
Find the odd man out.
A) Jowar B) Maize C) Millet D) Red Gram




29. TG U SATHAIN darad o0l SAThdl UatETd Haet.

Find the figure that matches the question figure, exactly from the answer figures.
a9 anqrch/ Question Figure:

o :-

0
t (A
]
3| 4 3
% ¥

Instructions:-
Observe the following diagram carefully and select the correct answer option.

0

7 o
312 8 9
6 4

30. W forehiuTa okt aieh otmRa ?

A) o B) ¥ C)3 D)4
How many numbers are there in only triangle?
A)O B) 4 C)3 D)5

31. Uhakd TTEATd foRd 37eR TR ?

A)'e B) 4 03 D) &
How many numbers are there in only rectangle?
A)7 B) 5 03 D)6

32.  aqeTd AT, Yot BreRiun 9 STEdTa STHUTRT 37eh ShIvTAT ?

A)o B) & R D)o
Write the number which is not found in circle but found in triangle and rectangle?
A)O B) 5 )2 D)7




33.

34.

35.

36.

37.

38.

39.

P a9 rEdTE =T 27 it ?

A) ¥ B) o C)¢ D)R
Write the number which is not found in the triangle and rectangle?
A)4 B)O C)8 D)9

WA eTteh! WY e AT SHaTETe! Saeie TSt ShiuTdl ?

Which of the following vehicles is specially designed for disabled persons?
i

A) O%J B) EQ:] Q) % D)

WA Tehl THIVTAT 31 YT Haiiereh Ufdm .

Which of the following food items are Protein rich foods?

AT T 5.

A) T B) AL C)ga D) ITUH! AT
Water is found in state in river.
A) Solid B) Gaseous C) Liquid D) None of these

WTeATeTdeh! SHITET hUS SATUITATS! STUR ShedT STl ?

A) TR B) Yo\ C) shTqd D) a{icTd<h! @
Which one of the following is used to make clothes?

A) Wool B) Silk C) Cotton D) All of these
WIeieTieht Taid &g i hivTar ?

A) Teamest B) red 3R C) uTaETET D) I gTeAl
Which one of the following seasons is very cold?

A) Winter B) Spring C) Rainy D) Summer




WTeATeTdeh! ShIUTAT WIS shee! War Ad ?

A) 2T B) W C) gt D) &t
Which one of the following vegetables can be eaten raw?

A) Potato B) Lady Finger C) Raddish D) Brinjal
Wil SHIVTAT TWRE UTUTE T ST ?

A) HgHETR B) A 3mfuT D C) A= D) @WR
Which one of the following is the source of salty water?

A) Ocean B)Aand D C) Rivers D) Seas
AR TSt ShIUT ?

A) Tt B) &=ft C) 3T= D) Fw=Q
Which one of the following is a vegetable?

A) Brinjal B) Orange C) Mango D) Apple
WeicTeh! ShIUT YaTd ol ?

Identify the thing which can breathe?

A)@ B) C)

Wil hIUTeT ARSI U ST ?

A) IR B) STE C) s D) Tl

Which one of the following living thing has wings?

A) Pigeon B) Bear C) Zebra D) Dog

SIS IR hIUTT STaae futer o ?

A) S B) & C) = D) ¥g_

Which one of the following organs in our body takes decisions?

A) Eyes B) Ears C) Nerves D) Brain

_______ G L.

A) TToft B) gan Ok D) licT<h! @
is invisible.

A) Water B) Air C) Milk D) All of these

ST fehell AR 2T ?

A)¥ B) 4« C)3 D) &

How many sense organs do we have?

A) 4 B) 5 )3 D)6




gl ARG TR fom s,

Identify the picture which looks like the shape of the earth.

49.

50.

51.

52.

53.

54.

55.

56.

57.

58.

pleesibkiichovg i I YR SFEe ST
A) &1/ RISl B) I c)T@ D) T
Leather goods are made from of animals.
A) Skin B) Teeth C) Nails D) Blood
WTeATCAUh! ThIVTIAT FosTel TAT Fgeed STd 2
A) Tug B) GUREIE C) St D) Shaht
Which of the following is called the king of fruits?
A) Papaya B) Apple C) Mango D) Banana
WAeTdeh! et ShivTd ?
A) St B) HE=Id C) g D) aficTd<h! @
Which is our national flower?
A) Banana B) Apple C) Jasmine D) All of these
What is the plural of Sheep?
A) Sheep B) Sheeps C) Sheepes D) None of these
Find the rhyming word of - ABOVE
A) Below B) Come C) Cow D) Love
Identify the masculine gender for - MARE
A) Vixen B) Horse C) Man D) Bachelor
Find out the word spelt correctly from given below.
A) Mountan B) Mounten C) Mountene D) Mountain
Find the word opposite in meaning to the word - EARLY
A) Let B) Late C) Morning D) Dawn
Find the alternative for the following blank in the sentence.
Sun is a star.

A)a B) the C) and D) an
Fill in the blanks with Pronoun from correct alternative.

is a honest girl.
A) He B) His C) She D) We




59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

Fill in the blank with proper preposition.
The sky is our head.
A) over B) under C) up

TR SO HUE T8 — WA S ?

A) SHuft B) &t C) et
feregenedt yrsgren STt vien.

A) TRTE X T B) &R X @ie C) wtE| X uruft
WA 28R S[ead 3AYUT 9168 TER .

T AT Ot X

A) AITofRaT B) TATUTIT C) Aot
TETA 7 SEUTRT 9158 I ?

A) |TdT B) S C) 33
FAATH ST 9768 U Haet.

A) 32 B) T C) %3
‘Iegpee’ A vTegTen foreenedt vteg it ?

A) Freu=d B) 3g4E C) Frepee
HTIAT HRUT — T TR 372} ShIuTar ?

A) HTITHT HREH ZTeRUL B) fermt @Ut
C) Ere "0t D) ATEEAT grot
Teh! auid fehd! AigA s/EamE ?

A) TR0 B) &1 )&

How many months are there in a year?

A) Eleven B) Twelve C) Ten

“r
Q) e

Which one of the following is a non living thing?

r
C) S8

10

D) down

D) &

D) TR X'

D) Uit

ML

D) -Tegean

NEL

D) ITUHY AT

D) None of these

D) ITUH! AT

D) None of these

——
| —



69.

70.

71.

72.

73.

74.

75.

C) Green vegetables

) e

C) Aeroplane

C) T A4 AR

C) Can’t say

C) o

C) 90

FE WA AU
A) b B) g
Some animals give us
A) Fruit B) Wheat
WeAIcTdeh! gad ISUTR hIvT ?
A) R B) 51|
Which one of the following can fly in the air?
A) Car B) Bus
2024 B iy o 3R 1 ?
A) 3 B) ATt
Is 2015 a leap year?
A) Yes B) No
Qooo = o
A) Q00 B) ]%
9000 ml = Liter
A) 900 B) 99
USATS UTg e Sl

’OH 12 )
\\qa ( QB
A) g:00 B) R:00

See the watch and find the time.

'\21

A) 1:00 B) 2:00
Tuidier feadt afgvara 3¢ feam srmam?
A) ¢ B) o
How many months have 31 days?
A)8 B) 10
_____ F1 IS THE STt
A) ST B) etk

is the head of the school.
A) Principal B) Teacher

——

C) ¢:30

C) 1:30

Q)

Q)7

C) SERUTA

C) Gate Keeper

11

D) g

D) Milk

D) Vgt

D) Ship

D) ITUHY AT

D) None of these

D)R

D)9

D) R:30

D) 2:30

D) &

D)6

D) ITUHY AT

D) None of these

'



76.

77.

78.

79.

80.

81.

82.

83.

A)@Qaila‘_dl _______

Always watch TV at

A) Very high volume B) High volume C) Low volume

TIETd 9 SHUTRT Ui She,

A) ITTe5T B) HER C) ufeeg

Find the odd man out.

A) School B) Temple C) Mosque
_________ =1 FITaTa et 3-Hel UISed YTehd AT
A) TR B) gXfer=ramut C) WUTeh

You cannot send an e-mail without .

A) A telephone B) A television C) A computer

geefiaiict Tatd HisT HEFRR ShiuTdl ?
A) AT AZERR  B) T9Tid WETETR

The largest ocean on the Earth is
A) Atlantic ocean B) Pacific ocean

C) &t wermmR

C) Indian ocean

WTATAUh! ShIUTd TSI 9T ATEL.

A) T B) STIX C) Tredt
Which of the following is not a capital city?

A) Patna B) Jaipur C) Ranchi
WRA heft TTa= e ?

A) R€ STHATR 9340 B) Q4 WL 9340 C) § | 9%%6
When did India become an independent country?

A) January 26, 1950 B) August 15,1950 C) May 1, 1947
WRATAIA Haid Tid Tt vt 2

A) TRT B) SR C) Tgret
Which is the longest river in India?

A) Ganga B) Brahmaputra C) Godavari

D) ITUHY AT

D) None of these

D) <=l

D) Church

D) e

D) Internet

D) ITUH AT

D) None of these

D) g

D) Surat

D) 9% 3T %%l

D) August 15, 1947

D) f&ier.

D) Sindhu

‘elielt =1 weRerr’ fehan “gfervien A’ HERTSCTE ShivTen Riegama oie.

D) SfeTEte

D) Aurangabad

A) STHRTE B) 4% C) Jereron
‘Bibi ka Magbara’ or ‘Taj of Deccan’ is in Which district of Maharashtra?
A) Amravati B) Dhule C) Buldhana

( ]

(2 )



84.

85.

86.

87.

88.

89.

90.

91.

HERTETAS Fe 3§ AT STegt ShivTar ?

A) aTeie B) THifean C) UTeTER D) HTeRTE
The new 36" district of Maharashtra is

A) Washim B) Gondiya C) Palghar D) Malegaon
ATHECT STETST ShITTIeAT TTUITEAT 2o AT ?

A) = B) 3¢ C) M= D) gt
Which is the name of animal referred as the ship of the desert?

A) Tiger B) Camel C) Cow D) Elephant
TTuft HISUSTETS! ShIUTA Uehth STURTE ?

A) TH B) iR C) ferer D) gt
What unit would you use to measure water?

A) Gram B) Meter C) Liter D) Hectare
HERTETR UEiel JEawst hivt gid ?

A) g FEUTE B) ATTAGHIE TISETUT

C) I ATEh D) IRE Ya

Who was the first chief minister of Maharashtra?

A) Devendra Fadnavis B) Yashwantrao Chavan

C) Vasantrao Naik D) Sharad Pawar

WRATS AT ShHI0T 37T ?

A) THAT <hiferg B) SUTE WAl C) UfaHT areieA D) T.U1.. 37ege1 el

Who is the current President of India?
A) Ramnath Kovind  B) Pranav Mukharji  C) Pratibha Patil

ST U= AT R TR ?

A) gt B) fareat C) W%
What is the name of our planet?

A) Earth B) Universe C) Mars
TG ShIUT 3113 ?

A) Toheheug, B) BehIug, C) FEue,
Who is the Dhyanchand?

A) Cricketer B) Hockey Player C) Wrestler
SR Taid aiTan TTof hivTdT ?

A) ferea B) @& C) gltut
Which is the fastest land animal in the world?

A) Cheetah B) Rabbit C) Deer

13

D) A.P.J.Abdul Kalam

D) &

D) Jupiter

D) Seftieue,

D) Badminton Player

D) &g

D) Lion

——
| —



92.

93.

94.

95.

96.

97.

98.

99.

WRATSAT AELEAATHED URUT fehelt T A 2

D) U=

D) Five

D) e 2 &

D) Table tennis

D) fogim

D) Mizoram

D) Vgt

D) Ship

D) T

D) Blood

D) &

D) Bear

D) et SR

D) North America

D) fehehe

D) Cricket

A) A B) & C) @R

How many colors are there in India’s national flag?

A) Two B) Three C) Four

WeTIeTieh! HIUTdT A Wes AT 2

A) fereke B) Fedicl C) gieht

Which of the following is not an outdoor game?

A) Cricket B) Football C) Hockey

WRATA Felld g T hIUTd ?

A) Brga B) Rrecbm C) e

Smallest state of India is?

A) Tripura B) Sikkim C) Goa

T A AT HIUTd ?

A) femm= B) ¥{&d C) &R

Which is the fastest vehicle?

A) Aero plane B) Train C) Car

ferrenfem o s/ ?

A) UTUETA B) g C) wfera

Hemoglobin is present in?

A) Water B) Air C) Soil

FATATEI AT SHIUTeAT TTUITAT FgeeA T ?

A) Tt B) Rz C) e

Which animal is called King of Jungle?

A) Elephant B) Lion C) Tiger

URA IV WET 3118 ?

A) ThG B) TTTEheRT C) snfdrEn

India lies in which continent?

A) Europe B) Africa C) Asia

forTe Riget SivTea WeTit Heied ag ?

A) greht B) gegitaes C) giges

Virat Kohli is associated with which sports?

A) Hockey B) Chess C) Boxing
( ]
O



100.

AT TEUATHTS! WTEATAUhT ShId S SATaTd ?

A) T B) gt C) &RUT D) STt
Which of the following is built to stop flood?
A) Roads B) Bridges C) Dams D) Canal

SPACE FOR ROUGH WORK

——
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